N”yl1 NIixn DIN .D.N

I'V T'79 "wupn

SLEEVE 60F - wax 199 |V

61F NUT

NIND 11707 190N
1/8 vxa 61F02
3/16 vxa 61F03
1/4 oxa 61F04

BSP 1/4 oxa 61F04BSP
5/16 vxa 61F05
3/8 vxa 61F06
1/2 oxa 61F08
5/8 vxa 61F10
3/4 vxa 61F12

AIRN 'AI'?U.'I avon
1/8 |'v 60F02
3/16 |y 60F03
1/4 pry 60F04
5/16 |'v 60F05
3/8 1y 60F06
716 'y 60F07
1/2 pry 60F08
5/8 |y 60F10
34 v 60F12

&

SLEEVE 60F - on'im 199 |y

qIXN 170 1oon
MM4 - v 60FM04
MMS5 - v 60FMO05
MM6 - v 60FMO06
MM 8 - v 60FMO08
MM 10 - v 60FM10
MM 12 - v 60FM12
MM 14 - v 60FM14
MM 15 - v 60FM15
MM 16 - |'v 60FM16

UNION - 62F
qINN 1217057 190N
1/8 |'v qwpn 62F02
3/16 |'v q2wpn 62F03
1/4 'y hwpn 62F04
5/16 |'v "\upn 62F05
5/16*1/4 |'v "wjn 62F0504
5/16*3/8 |'v "wjn 62F0506
3/8 'v q2upn 62F06
3/8*1/4 'y qwpn 62F0604
3/8*1/2 'y "wpn 62F0608
1/2 'y "wpn 62F08
5/8 |'v qwpm 62F10
3/4 |'v 2w 62F12

03-6828850 0579 ,03-6837291 :j1970 www.mf-p.co.il, email: mf-lid@zahav.net.il



http://www.mf-p.co.il/
mailto:mf-ltd@zahav.net.il

N”yl1 NIixn DIN .D.N

66F - FEMALE - CONNECTOR

I'V T'79 "wupn

64F - UNION - TEE

qINN 11707 190N
1/8 |'v ynjz " ann 64F02
3/16 |'v ynp "ann 64F03
1/4 ynp |'v Dann 64F04
5/16 yng |'V 7ann 64F05
3/8 yng 'V 7ann 64F06
1/2 ynp |'v 7ann 64F08
5/8 ynj 'V "ann 64F10

JINN 121707 190N
1/8*1/8 |'v "win 66F0202
3/16*1/8 |'v "wpn 66F0302
1/4*1/8 |'v "win 66F0402
1/4*1/4 'y "wpn 66F0404
1/4*1/2 'y "wpn 66F0408
5/16*1/8 |'v "wpn 66F0502
5/16*1/4 'y "wpn 66F0504
5/16*3/8 |'v "wpn 66F0506
5/16*1/2 'y "wpn 66F0508
3/8*1/8 'v "win 66F0602
3/8*1/4 'y qwpn 66F0604
3/8*3/8 'v "wn 66F0606
3/8*1/2 'y "wpn 66F0608
1/2*1/4 'y "wpn 66F0804
1/2*3/8 'y "wpn 66F0806
1/2*1/2 'y "wpn 66F0808
5/8*1/2 'y "wpn 66F1008

Iro

P

65F - UNION - ELBOW

qINN 117077 190N
1/8 'y nur 65F02
3/M16 |'v nur 65F03
1/4 'y nur 65F04
5/16 |'v nur 65F05
3/8 v nut 65F06
1/2 'y nur 65F08
5/8 v nyr 65F10

03-6828850 0579 ,03-6837291 :j1970 www.mf-p.co.il, email: mf-lid@zahav.net.il




N”yl1 NIixn DIN .D.N

I'V T'79 "wupn

|
a

69F - MALE - ELBOW 68F - MALE - CONNECTOR
JINN 121707 190N qINN 1217077 190N

1/8*1/8 j'v nur 69F0202 1/8*1/8 |'v "wjm 68F0202
3/16*1/8 |'v nut 69F0302 3/16*1/8 'v "wpn 68F0302
3/16*1/4 'y nut 69F0304 3/16*1/4 j'v "wpn 68F0304
1/4*1/8 'y nur 69F0402 1/4*1/8 'y "wipm 68F0402
1/4*1/4 'y nur 69F0404 1/4*1/4 'y "wipm 68F0404
1/4*3/8 'y nut 69F0406 1/4*3/8 |'v "wpm 68F0406
5/16*1/8 |'v nut 69F0502 1/4*1/2 'y "wipm 68F0408
5/16*1/4 'v nut 69F0504 5/16*1/8 |'v "wjn 68F0502
5/16*3/8 'y nurt 69F0506 5/16*1/4 1'v "wpn 68F0504
5/16*1/2 'v nut 69F0508 5/16*3/8 |'v "wjin 68F0506
3/8*1/8 'y nur 69F0602 5/16*1/2 py qwpn 68F0508
3/8*1/4 py nut 69F0604 3/8*1/8 'y qupn 68F0602
3/8*3/8 pry nut 69F0606 3/8*1/4 'y ywin 68F0604
3/8*1/2 py nur 69F0608 3/8*3/8 'v qwpn 68F0606
1/2*1/4 'y nur 69F0804 3/8*1/2 'y qwpn 68F0608
1/2*3/8 'y nut 69F0806 7/16*1/4 'y "wpn 68F0704
1/2*1/2 'y nur 69F0808 1/2*1/4 1y "wipm 68F0804
5/8*3/8 1'v nut 69F1006 1/2*3/8 |'v "wpn 68F0806
5/8*1/2 'y nurt 69F1008 1/2*1/2 'y "wpn 68F0808
5/8*3/4 pry nut 69F1012 5/8*3/8 |'v "wjn 68F1006
3/4*1/2 py nut 69F1208 5/8*1/2 |'v "wpn 68F1008
3/4*3/4 'y nur 69F1212 5/8*3/4 |'v "wpn 68F1012

5/8*16 |'V "\wpn 68F1016

3/4*3/8 |'v qwpn 68F1206

3/4*1/2 v "wpn 68F1208

3/4*3/4 |'v \wpn 68F1212

70F - FEMALE - ELBOW

IINN 1170 190N
3/16*1/8 |'v o1 nur 70F0302
1/4*1/8 'y 010 niit 70F0402
1/4*1/4 py n1o nur 70F0404
5/16*1/8 |'v o1 nurt 70F0502
3/8*1/4 |’y nn1o nt 70F0604
1/2*3/8 I'v 010 niit 70F0806

03-6828850 0579 ,03-6837291 :j1970 www.mf-p.co.il, email: mf-lid@zahav.net.il




N”yl1 NIixn DIN .D.N

T T

74F - ' hayn

I'V T'79 "wupn

71F - MALE RUN TEE

JINN 11707 190N

1/4 'y 2'p "ann 74F04 JIXN 170y 1oon

5/16 a7 |'V 1ann 74F05 1/8*1/8 |'V Yniz 12nn 71F0202

3[8 1|I1 Il” TMANn 74F06 3/1 6*1/8 |'M an’ qann 71 F0302

1[2 1|I1 Il” TMANn 74F08 1/4*1/8 |'” an’ 2NN 71 F0402
1/4*1/4 'y ynz "ann 71F0404
5/16*1/8 |'v yng 1ann 71F0502
3/8*1/4 |'v yng 7ann 71F0604
1/2*3/8 'v yn "ann 71F0806
1/2*1/2 'y ynj "ann 71F0808

72F - ALE BRANCE TEE

qIXN 117057 190N
1/8*1/8 'y ynpg nann 72F0202
3/16*1/8 |'v ynjz "ann 72F0302
1/4*1/8 'y ynpg "ann 72F0402
1/4*1/4 'y ynp Nann 72F0404
5/16*1/8 |'v ynjz "ann 72F0502
5/16*1/4 |'v ynj? "ann 72F0504
3/8*1/8 |'v ynp "ann 72F0602
3/8*1/4 'y ynp "ann 72F0604
3/8*3/8 |'v yng nann 72F0606
1/2*3/8 |'v ynj7 "ann 72F0806
1/2*1/2 'y ynjz "ann 72F0808

03-6828850 0579 ,03-6837291 :j1970 www.mf-p.co.il, email: mf-lid@zahav.net.il




